This circuit has three independent current sources, one dependent current source, and three resistors.
We want to find the currents through each resistor, and we’ll use Kirchhoff’s Current Law (KCL).

We will identify the nodes in this circuit.

A node is a point of connection between two or more branches.

There is a node at a because three elements meet there.

There are also nodes at b, c, and d, and e.

KCL states that the algebraic sum of currents passing through a node is 0.

We need a sign convention for current.

Entering current will be given a positive sign.

Write a KCL for node a and solve for i1.

Now write a KCL for node b and solve for i2.

Write a KCL for node c. There are two unknown variables, so we need to look at node e.

Write a KCL for node e and solve for i4.

Now solve substitute i4 into equation c to find i3.

